# **On The Convergence of Generalized Beta-Kantorovich Type Operators**

Mohammed Feroz Khan<sup>1</sup> Narendra Kumar Kurre<sup>2</sup> M. A. Siddiqui<sup>3</sup>

1 Asstt. Professor of Mathematics, Govt. Pt. J.L.N. P.G. College, Bemetara (C.G) INDIA 2. Asst. Professor of Mathematics, Govt N. C. J. College, DalliRajhara (C.G.) INDIA 3 Professor of Mathematics, Govt. V.Y.T.P.G. Autonomous College, Durg (C.G) INDIA

**Abstract:** In the presented article, we generalize the positive linear operator which is Kantorovich type with beta bases given by Dhawal. J. Bhatt et al. recently. We introduce the real positive parameters to generalize the operator, then prove uniform convergence for the sequence of this newly defined operators with the help of Korovkin's theorem. We estimate central and pointwise moments and also the rate of convergence through modulus of continuity. We have shown its asymptotic behaviors in terms of Voronovskaya type asymptotic formula.

MSC<sup>(2020)</sup> : 41A36 ,41A10 ,47A58

Keywords: Kantorovich operator, Beta bases, rate of convergence, Voronovskaya type asymptotic formula, modulus of continuity.

Date of Submission: 12-03-2021	Date of Acceptance: 27-03-2021

#### Introduction I.

Most celebrated Weierstrass theorem states that if f is a continuous function on [0,1] then for  $\varepsilon > 0$ ,  $\Box$  a polynomial P(x) such that

 $|f(x) - P(x)| < \varepsilon, x \in [0,1]$ 

S.N. Bernstein [1] gave a constructive proof of the above theorem using the sequence of positive linear operators (Bernstein operators). His polynomial operator  $B_n(f; x)$  is defined by

$$B_n(f;x) = \sum_{k=0}^n \binom{n}{k} x^k (1-x)^{n-k} f\left(\frac{k}{n}\right)$$

There were some drawbacks associated with the operators one of which was slow rate of convergence and the other one, Bernstein operator was not suitable for approximating functions which were integrable in the sense of lebesgue or Riemann.

In those contexts, in 1930, Kantorovich [2] introduced an operator  $K_n(f; x)$  defined by

$$K_n(f;x) = (n+1)\sum_{k=0}^{n+1} \binom{n}{k} x^k (1-x)^{n-k} \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(t)dt$$

Where f(x) is an integrable function on [0,1]

A lots of generalizations and modifications of Kantorovich operator have been introduced by many researchers [4-10] with different basis and parameters.

Recently Dhawal J. Bhatt et al. [11] defined Kantorovich type operator with Beta basis function as follows : For  $f \in R[0,1], x \in [0,1]$ ס∗. ח[∩ 1] דר חזת

Then

$$B_n^*: R[0,1] \to R[0,1]$$

$$B_n^*(f;x) = (n+1)\sum_{r=0}^n P_{n,r}(x) \int_{\frac{r}{n+1}}^{\frac{r+1}{n+1}} f(t)dt \qquad (1)$$

where

$$B_n^*(f;x) = (n+1)\sum_{r=0}^n P_{n,r}(x)\int_{\frac{r}{r+1}}^{n+1} f(t)dt$$
$$P_{n,r}(x) = \left(\frac{n}{r}\right)\frac{B(nx+r+1,2n-r-nx+1)}{B(nx+1,n-nx+1)}$$

Where B (a b) is the Beta function defined by

$$B(a,b) = \int_0^1 t^{a-1} (1-t)^{b-1} dt \quad (a,b>0)$$

Now we generalize the operator (1) with associating real parameters ( $0 \le \alpha \le \beta$ ) consequencing the above and defined generalized form as

$$B_n : R\{0,1\} \to R[0,1] \text{ such that}$$
$$\tilde{B}_n(f;x) = (n+\beta+1) \sum_{r=0}^n P_{n,r}(x) \int_{\frac{r+\alpha}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} f(t)dt$$

where  $f \in R[0,1]$  and  $x \in [0,1]$  and

$$P_{n,r}(x) = \binom{n}{r} \frac{B(nx+r+1,2n-r-nx+1)}{B(nx+1,n-nx+1)}$$

 $B(a,b) = \int_0^1 t^{a-1} (1-t)^{b-1} dt$  (a, b > 0) is the Beta function.

It is obvious from the construction that the operator  $\tilde{B}_n$  is a positive linear operator.

## II. Auxilary Results

 $\frac{\frac{7(n-1)(a+1)a}{n^3(a+b+1)(a+b)} + \frac{a}{n^3(a+b)}$ 

 $\frac{6(n-1)(n-2)(a+2)(a+1)a}{n^3(a+b+2)(a+b+1)(a+b)} +$ 

Now, in the following lemma, we derive the central moment of  $\tilde{B}_n(f;x)$ .

**Lemma 2.**: For  $x \in [0,1]$ , the central moments (moment about origin) of  $\tilde{B}_n$  are given by (i)  $\tilde{B}_n(1;x) = 1$ 

Proof: We have

$$\tilde{B}_n(1;x) = (n+\beta+1)\sum_{r=0}^n P_{n,r}(x)\int_{\frac{r+\alpha}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} 1 \cdot dt$$
$$= \sum_{r=0}^n P_{n,r}(x)$$
we get

From (i) lemma 1, we get

(ii)  $\tilde{B}_n(t;x) = \frac{n}{n+\beta+1} \left(\frac{nx+1}{n+2}\right) + \frac{1+2\alpha}{2(n+\beta+1)}$ Proof: We have

$$\tilde{B}_{n}(1;x) = (n+\beta+1)\sum_{r=0}^{n} P_{n,r}(x) \int_{\frac{r+\alpha+1}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} t \cdot dt$$

$$= \frac{1}{n+\beta+1} \left[ \sum_{r=0}^{n} P_{n,r}(x) \cdot r + \alpha \sum_{r=0}^{n} P_{n,r}(x) \right] + \frac{1}{2(n+\beta+1)} \sum_{r=0}^{n} P_{n,r}(x)$$
$$= \frac{n}{n+\beta+1} \sum_{r=1}^{n} {\binom{n-1}{r-1}} \frac{B(nx+r+1,2n-r-nx+1)}{B(nx+1,n-nx+1)}$$
$$+ \frac{\alpha}{n+\beta+1} + \frac{1}{2(n+\beta+1)}$$
from (ii) of Lemma 1, we get

$$\tilde{B}_n(t;x) = \frac{n}{n+\beta+1} \left(\frac{nx+1}{n+2}\right) + \frac{1+2\alpha}{2(n+\beta+1)}$$

 $(iii) \quad \tilde{B}_n \quad (t^2;x) = \frac{n(n-1)(nx+2)(nx+1)}{(n+\beta+1)^2(n+3)(n+2)} + \frac{2n(nx+1)(1+\alpha)}{(n+\beta+1)^2(n+2)} + \frac{1+3\alpha+\alpha^2}{3(n+\beta+1)^2}$ 

Proof: 
$$\tilde{B}_n(t^2; x) = (n + \beta + 1) \sum_{r=0}^n P_{n,r}(x) \int_{\frac{r+\alpha+1}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} t^2 dt = \frac{n^2}{(n+\beta+1)^2} \sum_{r=1}^n \binom{n-1}{r-1} \frac{B(nx+r+1,2n-r-nx+1)}{B(nx+1,n-nx+1)} \cdot \frac{r}{n}$$

 $\frac{\frac{n(1+2\alpha)}{(n+\beta+1)^2} \sum_{r=1}^n \binom{n-1}{r-1} \frac{\frac{B(nx+r+1,2n-r-nx+1)}{B(nx+1,n-nx+1)}}{+} + \frac{1+3\alpha+3\alpha^2}{1+3\alpha+3\alpha^2}$ 

$$\tilde{B}_{n}(t^{2};x) = \frac{n(n-1)(nx+2)(nx+1)}{(n+\beta+1)^{2}(n+3)(n+2)} + \frac{2n(nx+1)(1+\alpha)}{(n+\beta+1)^{2}(n+2)} + \frac{1+3\alpha+\alpha^{2}}{3(n+\beta+1)^{2}}$$
  
(iv)  $\tilde{B}_{n}(t^{3};x) = \frac{n(n-1)(n-2)(nx+1)(nx+2)(nx+3)}{(n+\beta+1)^{3}(n+4)(n+3)(n+2)} + \frac{3(3+2\alpha)n(n-1)(nx+1)(nx+2)}{2(n+\beta+1)^{3}(n+2)(n+3)} + \frac{n(nx+1)(7+12\alpha+6\alpha^{2})}{2(n+\beta+1)^{3}(n+2)} + \frac{1+4\alpha+6\alpha^{2}+4\alpha^{3}}{4(n+\beta+1)^{3}}$ 

Pro

$$\begin{split} \text{Proof:} \qquad \tilde{B}_n(t^3; x) &= (n+\beta+1)\sum_{r=0}^n P_{n,r}(x) \int_{\frac{r+\alpha+1}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} t^3 dt \\ &= \frac{1}{4(n+\beta+1)^3} \sum_{r=0}^n P_{n,r}(x) + 4(1+3\alpha+3\alpha^2)r \\ &+ 1+4\alpha+6\alpha^2+4\alpha^3] \\ &= \frac{n^3}{(n+\beta+1)^3} \sum_{r=0}^n P_{n,r}(x) \frac{r^3}{n^3} + \frac{3n^2(1+2\alpha)}{2(n+\beta+1)^3} \sum_{r=0}^n P_{n,r}(x) \frac{r^2}{n^2} + \frac{n(1+3\alpha+3\alpha^2)}{(n+\beta+1)^3} \sum_{r=0}^n P_{n,r}(x) \frac{r}{n} \\ &+ \frac{1+4\alpha+6\alpha^2+4\alpha^3}{4(n+\beta+1)^3} \sum_{r=0}^n P_{n,r}(x) \\ &= \frac{n^3}{(n+\beta+1)^3} \sum_{r=1}^n \binom{n-1}{r-1} \frac{B(nx+r+1,2n-r-nx+1)}{B(nx+1,n-nx+1)} \frac{r^2}{n^2} \\ &+ \frac{3n^2(1+2\alpha)}{2(n+\beta+1)^3} \sum_{r=1}^n \binom{n-1}{r-1} \frac{B(nx+r+1,2n-r-nx+1)}{B(nx+1,n-nx+1)} + \frac{1+4\alpha+6\alpha^2+4\alpha^3}{4(n+\beta+1)^3} \end{split}$$

Now, from lemma 1 we get the result (v)  $\tilde{B}_n(t^4; x) = \frac{n(n-1)(n-2)(n-3)0}{n}$ 

$$\begin{split} \frac{n(n-1)(n-2)(n-3)(nx+4)(nx+3)(nx+2)(nx+1)}{(n+\beta+1)^4(n+5)(n+4)(n+3)(n+2)} + \\ \frac{8n(1+\alpha)(n-1)(n-2)(nx+3)(nx+2)(nx+1)}{(n+\beta+1)^4(n+4)(n+3)(n+2)} + \frac{3n(5+10\alpha+2\alpha^2)(n-1)(nx+2)(nx+1)}{(n+\beta+1))^4(n+3)(n+2)} + \\ \frac{6n[1+3\alpha+2\alpha^2](nx+1)}{(n+\beta+1)^4(n+2)} + \frac{(1+5\alpha(1+2\alpha+2\alpha^2+\alpha^3))}{5(n+\beta+1)^4} \\ \frac{6n[1+3\alpha+2\alpha^2](nx+1)}{(n+\beta+1)^4(n+2)} + \frac{(1+5\alpha(1+2\alpha+2\alpha^2+\alpha^3))}{5(n+\beta+1)^4} \\ proof: \quad \tilde{B}_n(t^4;x) = (n+\beta+1)\sum_{r=0}^n P_{n,r}(x)\int_{\frac{r+\alpha}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} t^4 dt \end{split}$$

$$\begin{split} \frac{n^4}{(n+\beta+1)^4} \sum_{r=0}^n P_{n,r}(x) \frac{r^4}{n^4} \frac{2n^3(1+4a)}{(n+\beta+1)^4} \sum_{r=0}^n P_{n,r}(x) \frac{r^3}{n^3} + \frac{2n^2(1+3a+3a^2)}{(n+\beta+1)^4} \sum_{r=0}^n P_{n,r}(x) \frac{r^2}{n^2} + \frac{n(1+4a+6a^2)}{(n+\beta+1)^4} \sum_{r=0}^n P_{n,r}(x) \frac{r}{n} + \frac{1+5a+10a^2+10a^3+5a^4}{5(n+\beta+1)^4} \\ &= \frac{n^4}{(n+\beta+1)^4} \sum_{r=1}^n \binom{n-1}{r-1} \frac{B(nx+r+1,2n-r-nx+1)}{B(nx+1,n-nx+1)} \frac{r^3}{n^3} \\ &+ \frac{2n^3(1+4a)}{(n+\beta+1)^4} \sum_{r=1}^n \binom{n-1}{r-1} \frac{B(nx+r+1,2n-r-nx+1)}{B(nx+1,n-nx+1)} \frac{r^2}{n^2} \\ &+ \frac{2n^2(1+3a+3a^2)}{(n+\beta+1)^4} \sum_{r=1}^n \binom{n-1}{r-1} \frac{B(nx+r+1,2n-r-nx+1)}{B(nx+1,n-nx+1)} \frac{r}{n} \\ &+ \frac{n(1+4a+6a^2)}{(n+\beta+1)^4} \sum_{r=1}^n \binom{n-1}{r-1} \frac{B(nx+r+1,2n-r-nx+1)}{B(nx+1,n-nx+1)} \frac{r}{n} \end{split}$$

Using the results of lemma 1, we obtain the desired result. Now, for local approximation, the pointwise moments about  $x \in [0,1]$  are estimated in the following lemma.

**Lemma 3 :** for  $x \in [0,1]$ , nth (n=0,1) moments for the operator  $\tilde{B}_n$  about any point x are given by (i)  $\tilde{B}_n((t-x)^0; x) = 1$ 

Proof :  $\tilde{B}_n((t-x)^\circ; x) = \tilde{B}_n(1; x)$ 

From (i) of lemma 2, we have  

$$\frac{\tilde{B}_n((t-x)^\circ; x) = 1}{\frac{n(3+2\alpha)-2nx(\beta+3)-4x(1+\beta)+2(1+2\alpha)}{2(n+\beta+1)(n+2)}}$$
(ii)  $\tilde{B}_n((t-x); x) = \frac{n(3+2\alpha)-2nx(\beta+3)-4x(1+\beta)+2(1+2\alpha)}{2(n+\beta+1)(n+2)}$ 

Proof : We know that  $\tilde{B}_n$  is monotone and linear  $\tilde{B}_n((t-x); x) = \tilde{B}_n(t; x) - x$ From (ii) of lemma 2  $\tilde{B}_n((t-x); x) = \frac{n(nx+1)}{(n+\beta+1)(n+2)} + \frac{1+2\alpha}{2(n+\beta+1)} - x$   $n(3+2\alpha) - 2nx(\beta+3) - 4x(1+\beta) + 2(1+2\alpha)$   $= \frac{2(n+\beta+1)(n+2)}{2(n+\beta+1)(n+2)}$ (iii)  $\tilde{B}_n((t-x)^2; x) = [n^3 \{6x(1-x)\} + n^2 \{x^2(3\beta^2+18\beta+30) - x(18\alpha+6\alpha\beta+9\beta+33)+\alpha^2+9\alpha+13\} + n\{x^2(15\beta^2+60\beta+36) - x(33\beta+66\alpha-30\alpha\beta-51) + 5\alpha^2+33\alpha+17\} + 18x^2(\beta^2+2\beta) - 18x(1+2\alpha)(1+\beta) + 6(1+3\alpha+\alpha^2)]$ 

$$3(n+\beta+1)^2 (n+3)(n+2)$$

Proof : from monotone property and linearity of  $\tilde{B}_n$  and taking the results (ii) and (iii) of lemma2, we obtain the desired result.

Similarly, we can compute higher order moments of  $\tilde{B}_n$  about x using lemma 2.

# III. Main Results

In this section, first of all, we establish the uniform convergence of the sequence of  $\tilde{B}_n$  to  $f \in R[0,1]$  by korovkin's theorem [8].

Here, the norm is defined as

$$|| f || = \sup_{x \in [0,1]} |f(x)|$$

**Theorem 1 :** if  $f \in R[0,1]$  then

$$\|\widehat{B}_n(f;x) - f(x)\| \to 0$$

as  $n \to \infty$ Proof : From (i) (ii) and (*iii*) of lemma 2, we have  $\tilde{B}_{i}(1; r) = 1$ 

$$\tilde{B}_n(t;x) = \frac{n}{n+\beta+1} \left(\frac{nx+1}{n+2}\right) + \frac{1+2\alpha}{2(n+\beta+1)}$$

and

$$\tilde{B}_{n}(t^{2};x) = \frac{n(n-1)(nx+2)(nx+1)}{(n+\beta+1)^{2}(n+3)(n+2)} + \frac{2n(nx+1)(1+\alpha)}{(n+\beta+1)^{2}(n+2)} + \frac{1+3\alpha+\alpha^{2}}{3(n+\beta+1)^{2}}$$

It is obvious that  $\tilde{B}_n(t^k; x)$  converges uniformly to  $x^k$ , (k = 0, 1, 2) for  $x \in [0, 1]$ . Hence by Korovkin's theorem, the sequence of operators  $\tilde{B}_n$  converges uniformly to  $f \in C[0, 1]$ . Now the following theorem estimates the rate of convergence of the sequence of operators  $\tilde{B}_n$ 

Now, the following theorem estimates the rate of convergence of the sequence of operators  $\tilde{B}_n$ , in the terms of modulus of continuity of  $f \in C[0,1]$  where the modulus of continuity is given by

$$\omega_f(\delta) \equiv \omega(f, \delta) = \sup_{\substack{x - \delta \le t \le x + \delta \\ a \le x \le b}} |f(t) - f(x)|, \delta > 0$$

**Theorem 2**: If  $f \in C[0,1]$  then

$$\left|\tilde{B}_{n}(f;x) - f(x)\right| \leq 2\omega_{f}\left(\tilde{\delta}_{n}(x)\right)$$
  
Where  $\tilde{\delta}_{n}(x) = \left(\tilde{B}_{n}((t-x)^{2};x)\right)^{\frac{1}{2}}$ 

Proof : We have

$$\left|\tilde{B}_{n}(f;x) - f(x)\right| \leq (n+\beta+1) \sum_{r=0}^{n} P_{n,r}(x) \int_{\frac{r+\alpha}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} |f(t) - f(x)| dt$$

 $\omega_f(\delta)$  is an increasing function of  $\delta$  so,  $|t-x| \le \delta$ then

$$\begin{split} |f(t) - f(x)| &\leq \left(1 + \frac{(t-x)^2}{\delta^2}\right) \omega_f(\delta) \leq (n+\beta+1) \sum_{r=0}^n P_{n,r}(x) \int_{\frac{r+\alpha+1}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} \left(1 + \frac{1}{\delta^2}(t-x)^2\right) . \, \omega_f(\delta) \, dt \\ &= \left[1 + \frac{(n+\beta+1)}{\delta^2} \sum_{r=0}^n P_{n,r}(x) \int_{\frac{r+\alpha+1}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} (t-x)^2 \, dt\right] \omega_f(\delta) \\ &= \left[1 + \frac{1}{\delta^2} \tilde{B}_n((t-x)^2; x)\right] \, \omega_f(\delta) \\ &\text{taking } \delta = \tilde{\delta}_n(x) = \left(\tilde{B}_n((t-x)^2; x)\right)^{\frac{1}{2}} \\ &\text{then } \left|\tilde{B}_n(f; x) - f(x)\right| \leq 2\omega_f\left(\tilde{\delta}_n(x)\right) \end{split}$$

In the next theorem, we estimate the rate of approximation of the sequence of operators  $\tilde{B}_n$  in terms of Lipschitz inequality.

**Theorem 3:** If  $f \in Lip_M(p)$  then

$$\left|\tilde{B}_{n}(f;x)-f(x)\right| \leq M\delta_{n}^{p}(x)$$

Where  $\delta_n(x) = \left(\tilde{B}_n((t-x)^2; x)\right)^{\frac{1}{2}}$ Proof : from the monotonicity of  $\tilde{B}_n$ , we have

$$\left|\tilde{B}_{n}(f;x) - f(x)\right| \leq (n+\beta+1)\sum_{r=0}^{n} P_{n,r}(x) \int_{\frac{r+\alpha}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} |f(t) - f(x)| dt$$

Since  $f \in \operatorname{Lip}_{M}(p)$ 

$$|f(t) - f(x)| \le M|t - x|^p$$

Where

$$M > 0, 0 and  $t, x \in [0, 1]$$$

Hence,

$$\left|\tilde{B}_n(f;x) - f(x)\right| \leq M \cdot (n+\beta+1) \sum_{r=0}^n P_{n,r}(x) \int_{\frac{r+\alpha}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} |t-x|^p dt$$

by Holder's Inequality, we obtain

$$\begin{split} |\tilde{B}_{n}(f;x) - f(x)| &\leq M \cdot ((n+\beta+1)\sum_{r=0}^{n} P_{n,r}(x) \int_{\frac{r+\alpha+1}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} (t-x)^{2} dt)^{\frac{p}{2}} \\ & \quad . ((n+\beta+1)\sum_{r=0}^{n} P_{n,r}(x) \frac{1}{(n+\beta+1)})^{1-\frac{p}{2}} \\ & \quad = M \left( (n+\beta+1)\sum_{r=0}^{n} P_{n,r}(x) \int_{\frac{r+\alpha+1}{n+\beta+1}}^{\frac{r+\alpha+1}{n+\beta+1}} (t-x)^{2} dt \right)^{\frac{p}{2}} \\ & \quad = M \left( \tilde{B}_{n}((t-x)^{2};x) \right)^{\frac{p}{2}} \\ & \quad = M \delta_{n}^{p}(x) \\ \end{split}$$
Where,
$$\delta_{n}(x) = \left( \tilde{B}_{n}((t-x)^{2};x) \right)^{\frac{1}{2}}$$

## IV. Voronovskaya type theorem

Under this Section, now we estimate the asymptotic behavior of the sequence of operators  $\tilde{B}_n$  in terms of Voronovskaya type asymptotic formula.

We use the results of the following lemma in subsequent theorem.

Lemma 4: If  $x \in [0,1]$ , we have  $(2+2\alpha) = 2x(3+\beta)$ 

(i) 
$$\lim_{n \to \infty} n \cdot \tilde{B}_n((t-x); x) = \frac{(3+2\alpha)-2x(3+\beta)}{2}$$

(ii)  $\lim_{n \to \infty} n \cdot \tilde{B}_n((t-x)^2; x) = 2x(1-x)$ 

Proof of the above lemma is explicit by using lemma 3. **Theorem 4:** For  $f \in C[0,1]$  and  $f', f'' \in C[0,1], x \in [0,1]$ , we have

$$\lim_{n \to \infty} n \cdot \left( \tilde{B}_n(f; x) - f(x) \right) = \frac{(3 + 2\alpha) - 2x(3 + \beta)}{2} f'(x)$$
$$+ x(1 - x)f''(x)$$

Proof: From Taylor's formula, we have

$$f(t) = f(x) + (t - x)f'(x) + \frac{(t - x)^2}{2}f''(x) + h(t)(t - x)^2$$

where h(t) is Peano type remainder, continuous function on [0,1] and  $\lim_{t \to \infty} h(t) = 0$ 

then

n

$$\left(\tilde{B}_{n}(f;x) - f(x)\right) = n \cdot f'(x)\tilde{B}_{n}\left((t-x);x\right) + \frac{n}{2}f''(x)\tilde{B}_{n}((t-x)^{2};x) + n \cdot \tilde{B}_{n}(h(t)(t-x)^{2};x)$$

From Cauchy-Schwarz inequality

$$\tilde{B}_n(h(t)(t-x)^2;x) \leqslant \sqrt{\tilde{B}_n(h^2(t);x)} \sqrt{\tilde{B}_n((t-x)^4;x)}$$

then

$$n\tilde{B}_n(h(t)(t-x)^2;x) \leqslant \sqrt{\tilde{B}_n(h^2(t);x)} \sqrt{n^2 \tilde{B}_n((t-x)^4;x)}$$

refer to lemma 3, it can be seen easily that

 $\lim_{n\to\infty} n^2 \tilde{B}_n((t-x)^4; x) \ge 0 \text{ and finite}$ 

Now  $h(t) \in C[0,1]$ ,  $\lim_{t \to x} h(t) = 0$ 

and  $\tilde{B}_n$  is uniformly convergent for  $h(t) \in C[0,1]$ 

hence

$$\lim_{n\to\infty}\tilde{B}_n(h^2(t);x)=h^2(x)=0$$

now, we get

$$\lim_{n\to\infty}n\cdot\tilde{B}_n(h(t)(t-x)^2;x)=0$$

finally, we have

$$\lim_{x \to \infty} n\tilde{B}_n((f;x) - f(x)) = \frac{(3+2\alpha) - 2x(3+\beta)}{2} f'(x) + x(1-x)f''(x)$$

# Reference

- [1]. Bernstein, S.N, Demonstration du theoreme de Weierstrass fondee sur le calcul des probabilites, Communications of the Kharkov Mathematical Society no.13 (2) ,1-2(1912)
- [2]. Kantorovich ,L.V. : Sur certains developments suivant les polynomes de la forme de S . Bernstein ,I,II. C.R. Acad Sci .USSR 20, 563-568(1930)
- [3]. Korovkin ,P.P : On convergence of linear positive operators in the space of continuous functions. Dokl .Akad. Nauk 90,961-964(1953)
- [4]. Aniol, G.: On the rate of pointwise convergence of the Kantorovich-type operators, Fasciculi Mathematici, 29, 5-15 (1999)
- [5]. Dogru, O. et al. : Approximation by Kantorovich type generalization of Meyer-Konig and Zeller operators ,Glasnik matematicki 36(2),311-318(2001)
- [6]. Mishra ,V.N.et al. : Statistical approximation by Kantorovich -type discrete q- Beta operators, Adv Differ Equ 2013, 345(2013)
- [7]. Mursaleen ,M. et al. : Some approximation result for generalized Kantorovich -type operators, Journal of Inequalities and Application 2013,585 (2013)
- [8]. Orlova, O. et al. : On approximation properties of generalized Kantorovich -type sampling operators Journal of Approximation theory, Volume 201,73-86 (2016)
- [9]. Gupta V. et.al.: Modified Kantorovich operators with better approximation properties, Numer Algor 81,125-149(2019)
- [10]. Kajal, A. : Generalized Bernstein Kantorovich operators of blending type, Facta Universitatis Series : Mathematics and informatics ,491-502(2019)
- [11]. Bhatt D.J.et al.: New class of beta type operators approximating integrable function, Advances in Operator theory 5, 301-323(2020)

Mohammed Feroz Khan, et. al. "On The Convergence of Generalized Beta-Kantorovich Type Operators." *IOSR Journal of Mathematics (IOSR-JM)*, 17(2), (2021): pp. 21-27.